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28.

29.

SECTION - II
MATHEMATICS

The ratio of supplementary angle and complementary angle of a given angle is
8:3. Then what will be the ratio of given angle with its supplementary angle?
(1) 4:1 2) 13
3) 14 4) 1:2

What is the cost of fencing a circular garden of radius 28 m with five rounds
of wire, if the wire costs Rs. 50 per m?

(1) Rs. 45,000 (2) Rs. 46,000

(3) Rs. 44,000 (4) Rs. 50,000

21\3
<_32; ) = ? (Choose two correct options)

88 —2x°
_g 6 o 8X6 -3
() 5o 4 57

The average of 10 numbers is 20. Out of which the average of first 6 numbers

is 15. The average of last 3 numbers is 16 then what will be the seventh

number?
() 72 2) 62
3) 52 4) 60
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(1) 45,000 3. (2) 46,000 3.
(3) 44,000 3. (4) 50,000 T.

(F22) - amy,? (a0 cleen, Hatprobiva sol 3980.)

88 —2x°
—8x° —8x%°
3) — 27y 4) 77

10 JoZnY 0070 20 2B, LRRIYED BRTOF0D 6 Fodne ToeRO 15 [T,
3P0 3 BoBNY TR0 16 V. TMTT DYIOR F|R0FH Fo, 03RR)TO?
(1) 72 2) 62
(3) 52 4) 60
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30.

31.

32.

33.

What is the sum of additive inverse of (5a — 3b) and additive inverse of
(=6a + 2b)

(1) a+ b 2) a-0»b

3) —a+b 4) —a-b>b

Which of the following statement is wrong?

(A) If a number is divisible by 2 and 5 then it is also divisible by 10.
(B) The numbers divisible by 6 are also divisible by 2 and 3.

(C) The numbers divisible by 7 are odd.

(D) 1, 2, 3, 6 are common factors of all the numbers divisible by 6.

(H A (2) B
3) C (4) D

Which of the following statement is not true? (Choose two correct options)
(A) The opposite angles of a parallelogram are congruent.

(B) The adjacent sides of a parallelogram are congruent.

(C) The diagonals of a parallelogram are congruent.

(D) The diagonals of a parallelogram bisect each other.

(1) statement A (2) statement B
(3) statement C (4) statement D

The length of a cuboidal tank is one and half time its breadth and height is
twice the length. If volume of the tank is 4500 cubic metre then what is the
height of tank? (Choose two correct options)

(1) 10 m. (2) 3000 cm
(3) 30 m. (4) 1000 cm

SPACE FOR ROUGH WORK
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(1) a+b 2) a-b

3) —a+b 4 —a-b

IINSHYNIY, evodpery OGP CIRFYT?
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TREMITT.

(3) 7 00T PN TRES @Y, BN TR JoBZ RN
(@) 6 00T AR ort Seerdd FodNen 1,2,3,6 ) BN, LIRINTTIZS.
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(3) 3 4 B
IINSINIY, €AY, VPOSAYY CIResy? (D0 cdeer, Sojfarojaﬁ%ﬁ&l B08),
RR0. )

() ARNOBT % RBREIT FoRND BREIND DBTRT QTVTH.
() ARROBT R PBREIT JRODT RN DITHT VTOT3.
(8) ABR0IT PR WPBREIT TLRFNLD DICRT QTITS.

(@) RBR02T e 1PIReST FarTish FTOIT QPN

(1) Qo= ‘e’ 2) Q3 W
3) S P 4) s ‘®

20T YAFWE STTT VT TPOT LUTFE0ID BNOT 2.0m0RT Fedd, BB.
DT PVTFZOD ST Fed), T, TOT Wi, PIFO 45005 .50¢ 7T 0T
DITBR)? (TR cdpery TOSRHEODNERI o), [PRO)

(1) 10 &oe. (2) 3000 Fo.o0e

(3) 30 oe. (4) 1000 Fo.&w0e
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34.

35.

36.

37.

If the diameter of a wheel of a tractor is 1.4 m. then how much distance is
covered by the wheel in 400 complete rotation.

(1) 1.66 km (2) 1.56 km

(3) 1.76 km (4) 1.86 km

In the adjoining fig. line / || line m || line » and line x and line y are their
transversals. If AB = 18 ¢cm, BC = 30 cm, QR = 21 c¢cm then PR = ?

N
B/ \Q

m
J
[V

(1) 8.4 cm (2) 14.7 cm

(3) 12.6 cm (4) 33.6 cm

If a number is divided by 18 then the remainder is 1, if it is divided by 24
then the remainder is 7 and if it is divided by 36 then the remainder is 19.
What is the smallest such type of number?

(1) 91 2) 71

3) 79 4) 55

Which polynomial should be substracted from the polynomial 7x2 — 2x + 4 to
get the polynomial 10x2 + 5?

(1) 3x%2 + 2x + 1 (2) -3x% —2x — 1
(3) 3x2 —2x + 1 (4) 3x% + 2x — 1

SPACE FOR ROUGH WORK
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35.

36.

37.

20T ERITT WIT TAD 1.4 206 9. @ WEP) 400 I Teedr BREIT
BT R, 2028 BORTE?

(1) 1.66 &.Q0¢ 2) 1.56 &.20¢
(3) 1.76 &.Q0¢ 4) 1.86 8.20¢

WO $BB0NY, BeR [ || FeRk m || SeRd n DI TeR x DR TeR y AR
FeBNYS. womd R AB = 18 Fo.cwe, BC = 30 Fo.Q0¢, QR = 21 Fo.qwe

2R3 PR = ?
Q . y
N

B/ \Q

~

m
C R
[T
(1) 8.4 Bo.Qoe 2) 14.7 Zo.Q0e
(3) 12.6 Bo.Q0e 4) 33.6 Bo.Q0e

2,000 Fogd Rt 18 00T yNATRN JeR 1 UYoITT. 24 0o NATRAR FeR
7 UPO0NTT WoBY 36 00T LPNATRN R 19 QULCINTE TMHWT BOTH 1T,
Josd, cIRRT?

(1) 91 2) 71

3) 79 4) 55

T2 — 2x + 4 B3 WRBIDTACWOT BRNTD WRORO 320208 BRBOIN 10x2 + 5
35 WROBO BRTTNTT?

(1) 3x2 +2x + 1 2) 3x2-2x -1

(3) 3x% - 2x + 1 (4) -3x2+2x - 1
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38.

40.

41.

V1.96 — y/2.25 +,/2.89

/0.000256 -
(1) 102 2) 103
(3) 1072 4) 1073

Pradnya has exactly same number of Rs. 2 coins and Rs. 5 coins. She has a
total amount of Rs. 196 then how many coins of Rs. 5 she has?

(1) 28 (2) 56

(3) 35 4) 14

Two angles of measure 40° and 140° with different vertex are drawn then which
of the following statement is true?

(1) The given angles are supplementary angles.

(2) The given angles are linear pair of angles.

(3) The given angles are vertically opposite angles.

(4) The given angles are adjacent angles.

The co-ordinate of point P on a number line is _7—3 The distance between
point P and point Q is 2 units then what will be the co-ordinate of point Q?
(Choose two correct options)

1y 5L @ L
3 @ 2

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

J/1.96 — /2.25 +./2.89

/0.000256 w
(1) 102 2) 103
(3) 102 4) 1073

wzemﬁ GSEle) oDe»O 2 BRTOVCI pioN nYzo3ne @w@ 5 TRTIOVCI PO} nes.
@mf 5@6 2,830, 196 BRTOONDSES. mmdcﬁ @d@é BT AW 5 dfa—ao:boja

NG Tl emﬂ
(1) 28 (2) 56
(3) 35 4) 14

40° 2083 140° 9¥9300 2,003 TR YYD RTED Bees TedRTRoR). JWT
F2e003 odper;, TP 03, IRRO.

(1) ¢ %faesmfo PTT 3meRneR,

(2) & BREINTD BTN WBRCRIPCINT.

(3) & BREINL LTOTIRETNTONES.

(4) & BReIND Noerﬁ BREINTIN.

Joazy, TeRad Hoe P’ WOTONT ATFeT0T _7—3 2y, P =8y Q B8

2oIOSH 033 2 938 TS Q BTN IIFEHE om 7 (90> ciner

wojfaroxmfdaq eﬁoﬁ% M@O.)

1 =5t @ L
-1
7

3) @ =
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42.

43.

44.

45.

46.

The radius of a circle with centre 'O' is 10 cm. The length of a chord is
16 cm. Find the distance of the chord from the centre of the circle.

(1) 6 cm (2) 5 cm

3) 8 cm (4) 26 cm

A hall has length 30 meter and breadth 9.5 m. For flooring this hall, the square
tiles are to be used of half meter side then how many tiles should be required?
(1) 1240 (2) 1140
(3) 1340 (4) 1150

Ajay scored 25% marks less than Balbir. Then Balbir scored how much
percentage of marks more than Ajay?

1) 10 @ 11§
3) 25 @ 33%

The sides forming right angle of a right angled triangle are 8 cm and 15 cm
then what is radius of circumcircle of that triangle?
(1) 8.5 cm (2) 9.5 cm
3) 13 cm (4) 17 cm

If the side of an equilateral triangle is 18 cm then what is its area?
(1) 81 sq.cm. (2) 8043 sg.cm.
3) 823 sg.cm. (4) 8143 sq.cm.

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

'0' 3eoTR0TONTOR FBFYT Gy 10 Fo.gwe. BB, & TRFYTYED 16 Fo.
Q0¢ NTYZCWTR 2 ) FeoBROT DR, ¥0BTT HWoeATTH?

(1) 6 Fo.qoe (2) 5 Fo.q0oe
(3) 8 Fo.qoe (4) 26 Fo.oe

2000 BN VT 30 03T 30 LR 9.5 Q0T AT & FPEDF m’mrj@%ﬁ
T QT PBRITE PTTFE TIRONLY, TIFWEFTNT. TMTT ﬁm@%@d
2830, D), TIRONLINW LIeFIRT)?

(1) 1240 (2) 1140
(3) 1340 (4) 1150

©OROIN WORETINOT 25% Mo TRHO HHRTIR). TMHBT WOWCTIN
WWODINT DR, TETT T, 108D TBRTER)?

(1) 10 2) 11

— @"—'

(3) 25 4) 33%

[98)

2,00 TuBERS EERIT TPLERCITVI) YV0Ld [RBWITLRRNAW § Fo.00e. T
15 Fo.Q0e 93 Tomess & $3ReEE TORBFIT & R, ?

(1) 8.5 Fo.oe. (2) 9.5 Fo.oe.

(3) 13 Fo.aoe. (4) 17 Fo.aoe.

AROLW GBREST 00T Gk 18 Fo.Qoe. ABT WTO FEFFOBR?
(1) 81 2@.3o.Q0e. (2) 8043 o®.Fo.Q0e.
(3) 823 P.Fo.Qoe. (4) 8143 ®.Fo.Q0e.
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47.

48.

49.

50.

S1.

The rate of tickets of a bus are increased by 20%. After six months, the rate
of tickets again increased by 10% then what is the percentage increase in the
original rate of tickets.

(1) 30% (2) 32%

3) 25% 4) 35%

A merchant purchased 25 dozen oranges at the rate of Rs. 25 per dozen. He
sold all oranges at the rate of Rs. 32 per dozen. Then how much percentage
of profit did he get?

(1) 25 (2) 32

(3) 28 4) 7

A rope of length 216 m. is cut at five places at same distance then what is
the length of each piece in cm?

(1) 360 cm (2) 3600 cm
(3) 36 cm (4) 36000 cm

Which of the following term should be added so that the expression 49x’ +%

will be a perfect square? (Choose two correct options)

112x 112x
m M @
(3) 36w @
6.28x3.14 . (3.14) _

042 T 1256
M 3 2) 0.6
3) 1.3 @ 5
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47.

48.

49.

50.

S1.

WAT 83Bews oY, 20% émo&aé& 330 8ong I03T T 10% @moméa
mmdd A wéew ol oDe»O émo&aéﬂ

(1) 30% (2) 32%

3) 25% 4) 35%

2,2) TYFTOID 25 OR. B3P TTTES 25 BIPT® m@&mﬁ%fab B3ROBI. &3
@@ meﬁwmﬁ@m R332 TR. BOPT BTROT =ROTT @d@ﬁ DR, T8T3
mwmmsmo

(1) 25 2) 32 (3) 28 4 7

216 Q0ewT WVTYICL TBN[I), ABNS @oBTT Boed 5 IENYY, 0TI

N

TFS03R0T0 B00RT w@gﬁé @x% 30.500. QTOBT?

(1) 360 Zo.qoe. (2) 3600 Fo.qoe.

(3) 36 Fo.woe. (4) 36000 Zo.e0e.
64

49x 2+y2 33 T2H03) TPEIE W[NE WD ILIWN 0, A8 mwsﬁ

BRERLICTINRITTO. (@dcéa oiraerjs wommme@ ejoﬁ% dm@@)

112x —112x
O @ =
(3) 36w 4 %
628x3.14 . (3.14) _

042 T 1256 W7

3
M 3 @) 0.6

8

3) 1.3 @ 5

SPACE FOR ROUGH WORK
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52.  The number of girls of 8t standard A division in a school at Beed is 5 more
than half the number of boys. If total number of students in that division is
65 then how many girls are there in that division?
(1) 20 (2) 30
3) 25 (4) 40
53. Which of the following statement is correct?
(A) The number +% is to the right side of the number %on the number
line.
(B) The number % is to the left of zero.
(C) The numbers —% and % are to the left of zero on the number line.
(D) The number —% is to right of the number % on the number line.
(1) statement A (2) statement B
(3) statement C (4) statement D
54, 15 x75-7x75+35x35 _ 9
7.5 — 3.5
(1 3 2) 4
3) 5 4 2
SPACE FOR ROUGH WORK
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52.  wer SN0T 2,000 TSCHYOD 8Fe TNFT A NG TIBONONT Fosd, BOEINT
Roag,0% @qﬁr%ﬁoé 5 00T BWR VT, 8 N i), QEHFNRY o, 65 BT
BOTONODNT Fosg, HT?

(1) 20 () 30
(3) 25 4) 40

53.  3SNIYnYQoDd cdwer; BaIRFOD S8 BREO.
(29) HoamTBeRcH oedS +% 85 F0s3,030 % 85 Fosd0d OWHR ATTS.
() RosmTesiodnd Foed 15 B Foajodn FRRT SBWOT ATIS.

(@) RosmTedcnd Hes —15 DR 75 H LD IRT FBWOT A,

(@) RosmTesioh e 1y B Fo8 3 O WOLOR A,
(1) S ‘e’ 2) PR ‘W’
3) R P @) o8 ‘®

54. 75 x 75 -7 x754+ 35 x35
75 - 3.5

(1) 3 2) 4
3) 5 4) 2

_ =
—QD%%?

SPACE FOR ROUGH WORK
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5S.

56.

57.

S8.

59.

The difference between sum of three consecutive prime numbers before 50 and
after 50 is completely divisible by which of the following?

(A) 2 B) 3 (C) 4 (D) 7

(1) only by A and B

(2) only by C and D

(3) only by A and D

(4) By A, Band D

What is the degree of product of polynomials x3 — 2x* — 1 and x — x% ?

(1) 4 @ 5
3) 3 @ 6
(ol x (ol +yx
(ol x (xf+yx
() Vx @ 1
(3) x @) x3

A vehicle covers a distance of 42 km in one hour. Then how much distance

will it cover at the same speed in 20 minutes?
(1) 21 km (2) 840 m.
(3) 14 km (4) 20 km

Which of the following are the factors of polynomial (2x — 5)°> — 64 ?
(1) 2(2x — 9) (2x%2 — 6x + 21) (2) (2x — 5) (4x2 — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21) (4) (2x + 9) (4x% + 12x + 21)

SPACE FOR ROUGH WORK
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5S.

56.

57.

58.

59.

50 T 00T BT RRTO @wReRog Ny tedewd @08y 50 T =00l HITA
SR ool nY Wedewd aRNY dsa%ﬁés DTOOT VRN LN BREMOZT?

(©) 2 () 3 () 4 (®) 7
(1) Bz ‘@ =) ‘W
(2) Femo ‘T o ‘T’
(3) Femo ‘@ VR ‘@’

(4) FeRO ‘@ W VI ‘T

¥ =22 -1 @B x - ¥ B UWRTONG MORTCEE, WAR BB, T8
SR?

(1) 4 2) 5
(3) 3 4) 6
OO R R
(Vx)¥ x (Yx)¥ +x “
() Vx 2) 1
(3) x 4) x5

20030 TOBRY WOT L3NG 42 $.00¢. WARWJR. TBs eTie Fentos
S BT 20 QVLINYY, 2R, 2038 BORTT?

(1) 21 8.80¢. (2) 840 &we.
3) 14 $.a0¢. (4) 20 $.90¢.

(2x — 5)3 — 64 B3 WRVJOOD WBORTNER), FINTINGY, 803, =RRO.
(1) 22x — 9) (2x% — 6x + 21) (2) (2x — 5) (4x2 — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21) (4) (2x + 9) (4x% + 12x + 21)

SPACE FOR ROUGH WORK
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62.

63.

Santoshrao deposited Rs. 2,10,000 in bank for 5 years at simple interest. After
the end of period, he received Rs. 3,36,000 from the bank. Then what was
the rate of interest?

(1) 11% 2) 10%

3) 12% 4) 14%

The ages of 60 children in a class are given in the frequency distribution table
below. From this, find their mean age.

Age (in years) 12 13 14 15
No. of children 13 12 21 14
(1) 15 years (2) 13.6 years
(3) 13 years (4) 14.5 years

The curved surface area of a cone is 47.10 sq.cm. If radius of the base is
3 cm then what is its perpendicular height? (m =3.14 cm)

(1) 3 cm (2) 4 cm

3) 5cm (4) 157 cm

How many coins of thickness 0.2 cm and diameter 4 cm will be formed by
melting a solid metallic cuboid of length 22 cm, breadth 18 cm and height

6 cm?
(1) 935 (2) 954
(3) 594 (4) 945

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

ROZRETOIITRO word WR08Y, 2,10,000 TRITDOONTDI, 5 TRE  ATLWHOD
ROOTON QLIRD. BBHAD Fo8T WAt 3,36,000 TRITOW [RTER) ToMemT
ATFROD TTBFR?

(1) 11% 2) 10%

(3) 12% 4) 14%

2,000 BAFBYCD 60 QTRHFNY [OPRONE Feod BRB IWNT =S SPTFTEY,
3RBOING. =08 F0edod @ET TODRT WIFIRE IrioDd.

SO, (@—-Jjasardair) 12 13 14 15
NTHE "o 13 12 21 14
(1) 15 IRF (2) 13.6 IRF
(3) 13 IRF (4) 145 IRF

20T ORI DZRZHRFO 47.10 12.50.90 [T, ©WO YT &, 3 Fo.qwe /.
TMTS ©T0 ©ow @83 SR, ? (1 =3.14 cm)

(1) 3 Fo.owe. (2) 4 Bo.oe.

(3) 5 Fo.owe. (4) 15.7 Bo.o0e.

22 Fo.Qwe. vz, 18 Fo.Qoe. @no B 6 Fo.Q0e. 2FT NTIW OB
VRFNIODT) BN 0.2 Fo.20¢ TF, By 4 Fo.Qe I QBT DN
SCIROATT 2d), I, TOEYMT BOIRTIMITY ?

(1) 935 (2) 954
(3) 594 (4) 945

SPACE FOR ROUGH WORK
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64.

65S.

66.

67.

68.

The area of a square is 4.41 sq.cm., then what is its perimeter?
(1) 42 cm (2) 104 cm
(3) 8.8 cm (4) 8.4 cm

The base radius of a cylindrical tank is 28 cm. It contains water. A metal
cuboid of length 44 cm, breadth 14 cm and height 8 cm is dropped into it.
Then what is the increase in the level of water in tank?

(1) 2 cm (2) 2.5 cm

3) 3 cm (4) 1.5 cm

The length of side of a rhombus is 17 cm. If the length of one diagonal is
16 cm then what is the length of other diagonal?

(1) 30 cm (2) 17 cm

3) 8 cm (4) 34 cm

The population of a town was 75000. This population is increased by 10%
next year. After that year, the population decreased by 8%. In the third year
the population is increased by 5% then at the end of third year, what will be
the population?

(1) 935550 (2) 78000

(3) 79695 (4) 77950

Ashok sold the necklace worth Rs. 15,00,000 at 20% profit. How much amount
Ashok will get?

(1) Rs. 1,12,000 (2) Rs. 18,00,000

(3) Rs. 17,00,000 (4) Rs. 16,00,000

SPACE FOR ROUGH WORK
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64.

65.

66.

67.

68.

2,000 UPTAT FEBHO 4.41 1 P.Fo.Q0e. YW, TMRTT & PTIAT TOWE R?
(1) 4.2 Fo.Qoe. (2) 10.4 Fo.o0e.
(3) 8.8 Fo.oe. (4) 8.4 Fo.oe.

2000 ©OWFFe8E STTUT AeOT 0D YT &g 28 Fo.Q0e JT. WWTY, e
2T, 8 2eOY, 44 Fo.o0e T, 14 Fo.Q0¢ N WFY 8 F0.Q0¢ DT NIV
OBONT BO0WO TodWY AEOS TBYOL DFTTY, D), T5EWEB?

(1) 2 Fo.ooe. (2) 2.5 Fo.oe.
(3) 3 Fo.ooe. (4) 1.5 Fo.oe.

17 Fo.Q0e. RNTON Bt PERETT 2,000 For 16 F0.Q0¢ BT TS
f&g’i@pd& TFE NGYE R?

(1) 30 Fo.Qoe. (2) 17 Fo.Qoe.
(3) 8 Fo.oe. (4) 34 Fo.owe.

2,070 INTT w#o@g 75,000 2. e usﬁogjg R00DT IRE 10% émwowéa.
930 BVOOT DRE 8% BRTD 003D, TWRTICD DRE 5% é@josoéa. SDIADIN®)
BDoRTIOD JIRET BRIN ¢ INTH adﬁo&% @x%?

(1) 935550 (2) 78000
(3) 79695 4) 77950

306330 15,00,000 RTINS R0 daﬁoﬁa:oq Jes 20 PO BROTT
@R BRTBCIVE BaEE?

(1) 1,12,000 3. (2) 18,00,000 Ts.

(3) 17,00,000 3. (4) 16,00,000 Tw.

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

The measures of exterior angles of a triangle are 115° and 117° respectively,

then which type of triangle is it?
(1) Acute angled triangle

(2) Obtuse angled triangle

(3) Right angled triangle

(4) Equilateral triangle

The length of a diagonal of a square is 11 cm then what is the length of its

side?

(1) 11 cm (2) 11y2cm
3) 5.5/2cm (4) 72 cm
3.9% of 1530 = ? (Choose two correct options.)

(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

The measure of a minor arc is 160° then what is the measure of corresponding

major arc?
(1) 160° (2) 320°
(3) 200° 4) 80°

A shopkeeper gives 12% discount on the printed price of a mobile. He sold

a mobile for Rs. 26,400. What was its printed price?
(1) Rs. 30,000 (2) Rs. 32,000
(3) Rs. 26,412 (4) Rs. 3,000

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

2,00 EIRETT HTR OHIRCING WIENeD ©R0gmN 115° 3083 117° 933,
TGS & GBS 03NS FFTICHNTOZH?

(1) ozvdres gines
(2) QweBRES $ERCT
(3) weERes gines
(4) RADohw BRe

20T WPTTWES Feors wTFE 11 Fo.Qoe. ABT B0 PRT LUBYE R ?
(1) 11 Fo.aoe. (2) 11y2 Fo.oe.

(3) 5.5/2 FHo.aoe. (4) 742 Fo.aoe.

1530 T 3.9% = @x% ? (@65@3 oﬁfaeﬁzs DOSREODNY E:‘?Of)% drma)

(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

WO OFPOIORT €$92 160° AT. T3 @d%ﬁ TROQTOR NTVOTOIT =3

@w_')%?
(1) 160° (2) 320°
(3) 200° 4) 80°

LY LONRETUR BReen BRQE WS Boed 12% o3RRS (Iew)
BRTOTZ. LB 2oWD BREY® 26,400 TRITICWNIR R[ROTT =50 B0
IS aR), ?

(1) 30,000 3n. (2) 32,000 3n.

(3) 26,412 In. (4) 3,000 3.

SPACE FOR ROUGH WORK
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Instruction for Question No. 74 & 75

In the following joint bar graph, the number of boys and girls in divisions A,
B, C, D of 8™ standard are given. Observe the joint bar graph and answer
the following questions.

- |Scale: On Y |- Axis 1 cm = 10 boys/girls
1 boys EX3 gitls |
7 EE i
__________ 2 g |
2 Ly [ Z
(§. 20 L ; / 2 %2 i i i
(o I 2 >
2 Lo
S 0 5 O B
e m Emaman

74.  What is the total number of students in all four divisions of 8 standard?
(1) 255 (2) 300
(3) 200 (4) 355

75. What is the ratio of number of boys with number of girls in B division?
(1) 67 (2) 7:6
(3) 5:6 4) 6:5

SPACE FOR ROUGH WORK
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B3 74 R 75

g§3cd WNFB A, B, C, D ona @odon- TOWINODT Besmosd 0303 39N
HReRPOLPSDTY, IPTBLNT. WO J0TF BRE BINY WUITT odpery TOSTEOD
BOTIBO.

| BERe Y egg Sed 1 Ba.ace= 10 dope
o [ 2yeomics B owonassgy
50 |
340 |
= g [ 2
B8 Z Bl E
Bor- 1B A B D
B 10
O

74, 830D [INFT DQ QPONRRY ), DWRFNRY T0gS, 2R?

(1) 255 (2) 300
(3) 200 (4) 355

75. ‘B’ Qyend ®06n- om0 BwIosd o momeegd omd?
(1) 6:7 (2) 7:6
(3) 5:6 4) 6:5

SPACE FOR ROUGH WORK
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